1.7 Solving Problems Involving Objects

1. Determine the volume of this

compaosite object to the nearest VWT: "J,Ujl + VH?
tenth of a cubic centimetre.
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1. Determine the vesdwsae of this Srﬂl 6T — Siﬁr (ﬂ}k 4 S -'E""r"i =

composite object to the nearest
tenth of a culli centimetre.
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2. Determine the surface area of y Yy
this composite object. SAS 5 D S + &/
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2. Determine the ﬁw of
this compaosite object.
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3. Atool shed is formed by a D
rectangular prism with a SAz 9 S + 9 , ]5 + i ]C

triangular prism as its roof,
Determine the surface area of

the tool shed to the nearest i 2 &3 + & I ,3 ¢

square foot.
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